SH2FE 18 0FFER (£6#H)

B || 3% TEFE H
1| &| 2% |[;tH] ZFKRFE(~1/6) ‘
2 [1| &4k 2
3 | 8| &K -
4 | B| &tk 4
HPESS S
6 [7K| = 6
7| K| w8 [AEBITE SR / BEEIRERE / KR / #23(56h) 7
8 & EMNTHNEDEE(~1/13) / PTABHLEDEE) (~1/13) 8
9|t R BE B AR S E B TR B (FNAR 18R 9
108 0
11|A [BRADB] FERHAREERMTEREGER2ER) 1
12| K NIFEBE 12
13 [k INSRXGEEEQ 13
14| K NABZEFAR 14
15 | & 19
16 | £ RZEARKBTRAN ZEHZEHTANOREH B YRR MIRE (28k) / WEREIELHEE=R(YCC)| 16
17|8 RZEARLBTRE I
18| B 18
19 | K 19
20 |k RT—T7 VT EE 20
21| K INSRXCGEEED 21
22 | & 22
23|t REBIRTE -
24| 8 BiLEBREARER) =
25 | A R RHFREHTXO 25
26 | K BEAMHEATIRE 26
27 |k | FH | A S 15 B (4h) 21
28 | K AR RE (ERAKXA) 28
29 | & A ERE (ERAKERA) 29
30| 30
31| 8 [FERANIEE E A BR(E ) 2

DABFEBERETRYT




